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4:=z=mapl{f4,5};

Deamon 5 R !
i1 you have loaded the procedures from the Lpictures.mws file, you can try defining some affine S:='union® (51,52, 53,584);
contractions, draw the L-picture, and then generate the fractal. We show it here for Sierpinski’s triangle. ¢ od:
> pointplot (S, symbol=point,scaling=constrained,
. fl:=p->AFFINEL(P,1/6,-.5,1/6,.5,1/3,.25): axes=none, title='Jeff and Scott's Deamon');
£7.=p->AFFINEL(P, ~1/6,~.5,-1/6, L5,2/73,.250
mm”um_uvvm.mHZmuﬁmf.Mm.;.qm‘.mw_.qw.ofmmv ,
f£4.=p->AFFINEL (P, ~.25,-.75,-.25,.75,1,.25]; Jeff and Scott's Deamen

f i1
1= FFINEL P, -, 0.5,7,05, 7,025
f1 2= P — AFFINEL| P, ¢, 0.5, 05, 3,0

- -1 2
f2:=P - AFFINEL P, 6 -0.5, o.aa‘ m.c.mm
13 3= P 5 AFFINEN(P, 0.25, .75, 0.25,0.75, 0, 0.25)

m f4 = P —» AFFINEWP, 0.25,-0.75, -0.25,0.75, 1,0.25}
,vm,m“m.w%mu:mw.mw_m?mp:“

fractat template

i But 4&:. is this a fractal?? Is each map a contraction??
> with{linalg}:
Warning,

the protected names norm and trace have been redefined and unprotectes
> Ar=matrix(2,2,[-.25,~.75,-.25%,.751);
-0.25 075

A=

. 025 075
> eigenvals{transpose{A)&*n);

0.1250, 1.125

| Oh Oh!

Since the template is correct, we may proceed.
> §:={[0,0]}:#initial set consisting of one point
-~ 478; #good to keep point numbers well below 100,080,
| 450 as not to strain Maple's memory
i 65536
Based on the computation above L will do nine iterations below:
> for i from 1 to 8 do
_ St:=map({fl,8):
| s2:i=map(f2,8};
| S :=map (£3,5);
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